2, passed: 30 of 32 tests

Program File a\jdk-19\bin\java.exe" ...
Java HotSpot(Ti -Bit Server VM rning: Options -Xverify:none and -noverify were deprecated in JDK 13 and will likely be removed in a future release.
Test iterator and wraparound behavior th 200 random values with seed = 69 and fixed array size = 20

org.opentest4j.A ~tionFailedError: Reference and implemented queues are not equal ==> iterable contents differ at index [8], expected: <1695069013> but was: <-1182032251>

6 internal lin
at edu.calte 2.datastructures.CircularA yFixedSizeQueueTests$ImplementationTests. testWrapArounc
.util. forEach aylList.java:1511) <9 internal lines>
.util.Arraylist.forEach(ArraylList.java:1511) <9 internal lines>
va.util.Arraylist.forEach(Arraylist.java:1511)| <23 internal Llines>

i(CircularArray SizeQueueTests.java:210)/'<81 internal Lliness

raparound behavior th 300 random value th seed 21 and fixed array size 200

org.opentest4j rtionFailedError: Reference and implemented queues are not equal ==> iterable contents differ at index [0], expected:

6 internal lines

private class ArraySetIterator implements

private int idx;

public ArraySetIterator() { thi

@0verride
public boolean hasNext() { return this.idx < capacity;

@0verride

public E next() {
E toReturn = data[this.idx];
this.idx++;

return toReturn;




joolean enqueue(E e) {
if (lisFull()) {
if (this.positions[0] == -1) {
this.positions[0] 0; set
this.positions[1] 0;
data[B] = e;
( s.positions[1] != this.data.length - 1) {

rhis.positions[1] += 1;
data[this.positions[1]] = e;

} else {
this.positions[1] = 0;
data[B] = e;

@0verride
public E dequeue() {

E elem =

elem = data[this.positions[0]];
is.data[this.positions[B]] = null;
is.positions[@] == this.positions[1]){




